
Draper Tools Limited, Hursley Road, Chandler’s Ford, Eastleigh, Hampshire. SO53 1YF   UK.      KCCM0119

Helpline: +44 (0) 23 8049 4344   Sales Desk: +44 (0) 23 8049 4333   General Enquiries: +44 (0) 23 8026 6355   internet: drapertools.com   email: sales@drapertools.com

PETROL

BRUSH CUTTER
69301 - GTP8 SPARE PARTS DRAWING

�

REPRESENTATION ONLY
NOT ACCURATE FOR COLOUR

USE COLOUR REFERENCES SPECIFIED ON ARTWORK

Artist: ............................. Date: ...............

Proofer: ........................... Date: ...............

Database: ........................ Date: ...............

1st INTERNAL PROOF Cyan

Magenta

Yellow

Black

Draper Blue

Draper Green

Draper Red

Draper Black

Clear Seal

Buying:  .......................... Date: ...............

Sales: ............................ Date: ...............

1st EXTERNAL PROOF

Amend as Marked - Studio Re-proof Only

Fully Approved

Amend as Marked - Re-proof

IF YOU SIGN, PLEASE CHECK;
Pack type & style, all content, bar code printout
& note proof size (artwork to be sent @ 100%).

BUYING:
Please
tick 1
of the
below

options



Draper Tools Limited, Hursley Road, Chandler’s Ford, Eastleigh, Hampshire. SO53 1YF   UK.      KCCM0119

Helpline: +44 (0) 23 8049 4344   Sales Desk: +44 (0) 23 8049 4333   General Enquiries: +44 (0) 23 8026 6355   internet: drapertools.com   email: sales@drapertools.com

PETROL

BRUSH CUTTER
69301 - GTP8 SPARE PARTS LISTING

KEY
No.

PART
No.

STOCK
No. DESCRIPTION KEY

No.
PART
No.

STOCK
No. DESCRIPTION

 1 Y-GTP8-01 10884 Screw

 2 Y-GTP8-02 10970 Air filter cover

 3 Y-GTP8-03 10981 Air filter

 4 Y-GTP8-04 10983 Nut

 5 Y-GTP8-05 10984 Baffle

 6 Y-GTP8-06 10985 Screw

 7 Y-GTP8-07 10986 Choke

 8 Y-GTP8-08 10987 Inner cover

 9 Y-GTP8-09 10988 Handle

 10 Y-GTP8-10 10999 Air pipe

 11 Y-GTP8-11 11000 Starter assembly

 12 Y-GTP8-12 11002 Oil seal

 13 Y-GTP8-13 11003 Screw

 14 Y-GTP8-14 11004 Starter pawl

 15 Y-GTP8-15 11005 Fan

 16 Y-GTP8-16 11006 Oil dispersion plate

 17 Y-GTP8-17 11007 Needle bearing

 18 Y-GTP8-18 11008 Crankshaft

 19 Y-GTP8-19 11009 Dipstick

 20 Y-GTP8-20 11010 Seal

 21 Y-GTP8-21 11014 Screw M5x20

 22 Y-GTP8-22 11016 Screw M3x8

 23 Y-GTP8-23 11017 Screw M5x55

 24 Y-GTP8-24 11018 Board

 25 Y-GTP8-25 11020 Board

 26 Y-GTP8-26 11021 Reed

 27 Y-GTP8-27 11022 Crankcase

 28 Y-GTP8-28 11026 Pin B4x18

 29 Y-GTP8-29 11027 Needle bearing 6002

 30 Y-GTP8-30 11028 Gear

 31 Y-GTP8-31 11029 Seal

 32 Y-GTP8-32 11030 Flywheel key

 33 Y-GTP8-33 11031 Piston

 34 Y-GTP8-34 11032 Piston pin

 35 Y-GTP8-35 11033 Piston snap ring

 36 Y-GTP8-36 11034 Piston ring

 37 Y-GTP8-37 11035 Piston ring

 38 Y-GTP8-38 11039 Piston ring

 39 Y-GTP8-39 11041 Cylinder

 40 Y-GTP8-40 11042 Intake gasket

 41 Y-GTP8-41 11043 Screw M5x75

 42 Y-GTP8-42 11044 Intake boot

 43 Y-GTP8-43 11045 Board

 44 Y-GTP8-44 11185 Screw M5x8

 45 Y-GTP8-45 11188 Carburettor gasket

 46 Y-GTP8-46 11190 Carburettor

 48 Y-GTP8-48 11198 Spark plug

 51 Y-GTP8-51 11199 Cylinder cover

 52 Y-GTP8-52 11229 Screw M5x16

 53 Y-GTP8-53 11232 Cylinder cover gasket

 54 Y-GTP8-54 11268 Rocker pin

 55 Y-GTP8-55 11292 Rocker

 56 Y-GTP8-56 11345 Adjust nut

 57 Y-GTP8-57 11352 Pushrod spacer

 58 Y-GTP8-58 11356 Spring seat

 59 Y-GTP8-59 11378 Spring

 60 Y-GTP8-60 11379 Inlet valve

 61 Y-GTP8-61 11380 Exhaust valve

 62 Y-GTP8-62 11381 Lower rocker

 63 Y-GTP8-63 11382 Pushrod

 64 Y-GTP8-64 11383 Pin

 65 Y-GTP8-65 11384 Cover

 66 Y-GTP8-66 11385 Screw M4x16

 67 Y-GTP8-67 11386 Washer

 68 Y-GTP8-68 11388 Cam wheel

 69 Y-GTP8-69 11389 Board

 70 Y-GTP8-70 11390 Screw M5x8

 71 Y-GTP8-71 11392 Muffler

 72 Y-GTP8-72 11393 Screw M5x20

 73 Y-GTP8-73 11394 Screw M5x16

 74 Y-GTP8-74 11395 Cylinder cover

 75 Y-GTP8-75 11411 Muffler cover

 76 Y-GTP8-76 11413 Flywheel cover

 77 Y-GTP8-77 11456 Ignition coil

 79 Y-GTP8-79 11457 Packing

 80 Y-GTP8-80 11458 Nut

 81 Y-GTP8-81 11464 Washer B

 82 Y-GTP8-82 11465 Clutch assembly

 84 Y-GTP8-84 11466 Wave washer

 85 Y-GTP8-85 11476 Screw pin

 86 Y-GTP8-86 11477 Pipe

 87 Y-GTP8-87 11558 Plug

�



KEY
No.

PART
No.

STOCK
No. DESCRIPTION KEY

No.
PART
No.

STOCK
No. DESCRIPTION

 88 Y-GTP8-88 11559 Pipe

 89 Y-GTP8-89 11568 Fuel filter

 90 Y-GTP8-90 11615 Fuel tank

 91 Y-GTP8-91 11616 Fuel cap complete

 97 Y-GTP8-97 11617 Fuel tank support

 100 Y-GTP8-100 11619 Clutch assembly

 110 Y-GTP8-110 11688 Needle bearing

 111 Y-GTP8-111 11690 Transmission shaft

 112 Y-GTP8-112 11691 Aluminium tube

 113 Y-GTP8-113 11692 Transmission shaft

 114 Y-GTP8-114 11694 Aluminium tube

 115 Y-GTP8-115 11697 Quick change

 116 Y-GTP8-116 11698 Belt (complete)

 117 Y-GTP8-117 11700 Protect cover assembly

 126 AGTP33-BLD 85279 3 Tooth blade 

 128 Y-GTP8-128 11720 Front bevel gear assembly

 145 Y-GTP8-145 11738 Handle assembly

Draper Tools Limited, Hursley Road, Chandler’s Ford, Eastleigh, Hampshire. SO53 1YF   UK.      KCCM0119

Helpline: +44 (0) 23 8049 4344   Sales Desk: +44 (0) 23 8049 4333   General Enquiries: +44 (0) 23 8026 6355   internet: drapertools.com   email: sales@drapertools.com

PETROL

BRUSH CUTTER
69301 - GTP8 SPARE PARTS LISTING

�




